Global consumer spending has
increased six-fold since 1950,
reaching $24 trillion in 1998.

. 50,000 Number of new consumer items introduced in the United States each year.

¢ Obtaining enough gold for a single 14-carat wedding ring, weighing just one tenth of an
ounce, involves digging up as many as three tons of waste rock and ore,

creating devastating effects on ecosystems and communities living near mining operations.

o [f everyone in the world consumed like the average U.S. citizen, we would need at least

four more planet Earths.
* Producing one ton of virgin office paper requires 6.5 tons of wood.
* Each year, U.S. office workers discard 12 million tons paper.

» [f the entire U.S. catalog industry switched its publications to 10 percent recycled-content
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paper, the savings in wood would be enough to stretch a §“§ i o0t é ence
across the United States seven times.

.11 ,000: Number of new cars added to China’s roads each day in 2003.
* In the United States, new houses were 38 percent bigger in 2002 than

in 1975, despite having fewer people in each household on average.
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Sources: Purchasing Power, Worldwatch Paper #166. Stafe of the World 2004, The Worldwatch Institute.
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